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Objective: TSW identiy solutions on inequalties n one variable
 TSW wrils and graph inequales i one veriable.
“How do you graph incqualities?
4 inequal ity is a statement that two quaniilies or.expressions are not equal. An
inequalty oks very much like an equation, but it contains a sign other than the equal sgn (<),

[Tnequatity Graph [ How 0 Read a Graph
X>2 “An open dof a2 show that 2
Xis greater than 2 b+ | is ot included. All numbers

greater than 2 are icluded.
‘Anopen dot a2 shows that 2

x<2 ——+—t——+—+—F—+— | is notincluded. All numbers
Xis less than 2. s than 2 ae included.

T solid dof a2 shows that 2
x=2 =ttt | isincluded. Allumbers
X is greater than or equal 10 2 greater ian 2 aré ko

included.

A solid dot a2 shows (hat 2
x<2 b+ | isincluded. Al numbers less
Xis less than or equal 02 than 2 gre also included.,

“dlays make sure the variable is on the left ide of the incquality. If it isn’t, turn the inequaliy around.
EXAMPLE: 5<x _x>5

*You cannot have a negative variable. If you do, divide everything by -1 and turn thé inequaliy sign around.

EXAMPLE: x>2 — 2 x=<-2
Graph cachneguai.
e the gty shown by cach graph.
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‘Grashing & Writog ecusin

Define a variable and write an inequality for each situation. Graph the solutions
**No more than” means.“less than.or equal t0.”
“dt léast” means'*greater than o equal'to.” 1.

‘The Sanchez family is visiting an amusemont park. When they enter the park, they receive a brochure
which lists several requitements and restrictions. Select the best ansiver.

. You must b atleast 50 nchos tai t ride The Wid Tormado for coaster, Which of the folowing inequaltes
s s shuaton?
Anzso B ohas Domw

—__2Totland s an aig of e amusement ark sgt aside for hien who are 6 years old or younger. Which of the.
follouing Inequaltes rfesents the ages of chidren who are alwed in Totland?

Aase Ba<s ¢ az6 [

3 Children s trn 12 years od mus{55 accoripanied by an acultnsde The Haunied House. Which o the
ollowing inequalties shows the ages o chicren who require an adul inside the house?

Fysi Gy<r2 Hoyzi 3o
—_—

4:The Burmpy Gars il not b tumed on  here are 5 o more emptycars. Wrich of e folwing incauaities
Shows th pessle numbersof ety cars e i € gt bt

Fess Ge<s . N g2 4 es N
5 The school has a goal of raising at least $3000. Class. Amount Raised (5)
Vihich inequalty shows how much more money Seals C
ey need 0 ase to reach thei goal? ; r—
A ma2is © mszis Juniors
B me2is o m>27s Soehorierss L]
FirstYears 550

5 The juriors woud ike 0 aise more money than e B
seriors The seniors have compleed thes fundraiing or the year. Which exgression shaws how much more money
he juiors must raise 10 overtake the seniors?

F e G jez20 Hiz220 320




image3.png
Name, Date, . Period

Solving Inequalities
Dbjective: TSW solve incqualitics.

How do you solve inequalities?

‘You can solve an inequaliy in much the same way that you solve an equation: You isolate the variable by
using inverse operations. However, there is one major difference: when you multply or divide both sides of the

by 0 negarive number, you must reverse the inequali

1. Clear fractions 8(2x-6)+4(-1-50 <0 zx,%“,+‘5)27

2. Clear (),

3. Combine like
tems,

4. Undo addition
‘and subiraction.

5. Undo
‘multiplcation.
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o ‘Solving Inequalitie
[ xz<1 2 a3 3 x<5 4 ams10
—_— > [ |« > | -
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Continued Practice: Solve and araph each inequality.

T e B sreipn 10 Eerasacd)
15, -8140-12>20410 16 -3(3+5)2-5(2x-2) 7 e -am- Nz |

8. When solving an inequalty, under
what conitans wil it be ncessary 10
change the sign of the inequaliy >

15, When soling an inequaliy, you
obtain the result 5 < 3, what s he
solution?

20 When salving an inequality, il you |
obtan the result 4 2 2, what s the
solution?

31 Rosa has decided 1o sellpet rocks at an art fairfor §5 each. Sie has pald $30 10 rent a tabie at the far and
it costs her $2 to package each rock with a set of nstructions. For what numbers of saes will Rosa make a

profit?




